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~o o 154 8&l ) SHEEEE) 154 8& (5H) LS (FAH)
=4 S =4 S = sz =4 s

A 998,765 194,652 -15.5| -5.4 9,569,115 1,754,246 | -10.4 | -4.0

1 |HEY 173,519 22,4310 -11.0| -2.5 1,779,800 203,502 -1.8 0.7
2 |&= 157,993 22,731} -15.7 | -15.0 1,448,029 196,880 | -14.1 | -13.0
3 |ol= 102,451 19,801 1.7 15.7 929,656 187,482 -0.9 8.9
4 |2z Alof 73,612 10,907 -30.6 | —15.7 769,024 98,405 | -13.3| -10.7
5 [¢& 54,823 7,755 -16.7| -5.7 503,255 67,795 | -15.7| -6.1
6 |[E3 35,246 3,577 -19.4| -28.8 360,290 38,302 | -10.0| —-11.2
7 |otEHolo|z2|E dgt 30,565 4149 —-14.7| -14.0 302,434 43,676 -29| -6.3
8 |Zel[H 22,436 4,766 0.1 3.1 193,056 39,686 | -12.6| -6.5
9 |F5¢ 18,060 6,090] -12.7 7.9 149,640 48,863 | —20.5| -9.3
10 |ZEC|of 16,795 4,291 -18.1| —14.2 173,305 45,409 -1.1| -11.8
11 [E{7] 16,501 4,363 —26.2| -5.5 177,525 44,362 | -12.8| -5.4
12 |22t Al 15,879 4,076 25.1 32.2 131,595 25,142 -0.7 1.2
13 |olErz|o} 12,591 3,282 —20.6 | -23.4 126,459 37,656 | -17.9| -0.8
14 |2mH 2l 12,186 3,029] 14.9| 21.0 91,815 23,186 -8.9 6.8
15 |¥= 11,375 3,165 -18.8 | —-20.9 107,478 31,017 | -17.7| -14.3
16 |CHEH 10,777 2,147y -7.4 9.7 96,795 18,895 -7.1 -0.1
17 [EN= 10,760 2,843) -24.2 2.6 122,824 28,894 -9.9 3.9
18 |HAl= 10,724 2,439 -1.9 11.1 95,029 20,620 1.0 14.7
19 |AFClot2td| ot 10,185 1,362] -35.2| -39.5 128,277 18,061 | -28.6 | —-21.9
20 |Zailo| Aot 9,100 4,267] -8.4| -15.5 76,812 35,904 | -10.7| -5.7
21 |l=(elclo}) 9,010 4,535 -15.6 | -9.0 97,620 41,465 -0.2 1.6
22 |ZEA 8,462 1,673] —29.5 4.3 103,063 17,510 | —24.5 3.5
23 |mF|AEH 8,232 4,969] 55.1 51.2 65,301 41,933 21.5| 2538
24 |7H et 8,190 1,446] -5.6| -10.5 67,124 12,273 2.1 -1.2
25 |2{Alof 7,658 2,696 —-55.5 | —41.4 79,816 23,039 | -39.2| -19.1
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¥ 1,370,924 140,684 9,056,355 1,123,763 -0.6 3.2

1 |&5= 596,407 70,576 4,066,049 564,052 -1.2 3.6

2 |HEY 310,847 22,717 1,614,873 155,636 2.6 8.4

3 |olEz|ot 67,075 907 417,414 5,443 0.3| 10.2

4 |2z Alof 55,801 8,535 475,410 76,563 0.9 6.6

5 |o|Qfao} 43,902 1,688 230,619 9,045 | -10.0| -3.4

6 |el=(elc|o}) 32,928 8,076 273,353 70,358 13.5| 19.9

7 |o|= 31,117 2,853 224,303 21,914 -7.0| -11.8

8 |¢= 30,266 4,470 259,792 45,909 -8.4 5.0

e ER 22,411 1,416 150,930 11,028 12.0| 10.3

10 (=& 19,231 394 158,611 1,486 -8.0| 65.4
NEE 18,071 4,136 148,063 33,748 | -11.5| -10.2
12 |ZEC|o} 14,832 610 91,819 3,421 242 21.0
13 |oz| AE 11,296 2,903 88,472 22,360 -0.7 3.5
14 |Zez|H 10,574 713 74,820 4,766 16.9 8.5
15 [E{7] 9,764 382 57,587 2,489 10.9| 85.3
16 |22 o|A|of 9,148 3,470 83,816 36,744 | -25.7 | —23.7
17 [cHg2t 8,124 1,729 79,768 16,702 6.4 -11.1
18 [=¢ 7,079 437 54,079 4,293 -5.1 2.0
19 |Fot4of 6,847 34 36,201 251 1.4 5.9
20 | el 5,610 116 42,099 850 3.8| 10.4
21 |d9= 5,260 182 39,352 2,139 28| -2.7
22 |A2|E7} 5,259 450 34,783 3,375 11.2 5.1
23 |2AEz|of 5,108 1,765 38,814 13,912 1.7 12.8
24 |ZEFZL 4,368 74 32,808 574 10.7| 25.5
25 (A9 3,814 117 27,996 753 19.9| 52.3




